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AP B¢ VR 3k P-Value
Mg, mL 0.015 NS
MRk R, 108/mL 0.024 NS
H3E4 % 0.095 NS
W+ A%, % 0.118 NS

NS, P> 0.05.
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#= 3P ¢ 3y is Hp
n=30 n=30 n=30

P-Value

Hizg > mL 0.32 0.32 0.38 NS
HixER > 108/mL 4.47 4.61 6.08 NS
HIFE4 0% 32.22b 30.940 42.258 Hok
i E T 23.07P 25.522b 32.522 *
AL ARG S R E B

T 393k # 40 46 50

HizE > mL 0.27 0.33 0.34 NS
kR » 108/mL 2.70 2.90 4.05 NS
HI3E4 2% 25.30 28.82 29.50 NS
M3 uFas% o, 9 22.19 27.35 26.02 NS

abWithin a row, means with no common superscript differed significantly (P < 0.05).
*P < 0.05; **P < 0.01; NS, P> 0.05.
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AP B va ¥k P-Value
KR E, mL 0.116 >
¥Rk R, 108/mL 0.142 *ook
HFE4,% 0.118 *
3w as % % -0.115 NS

*P <0.05; **P < 0.01; NS, P> 0.05.



